o ]

iy

&
T

‘:;r
]

MEBDATR

SARBOM» S BIZEI S 5 /X e, W, ELSHICARTEANZMNT 5.
(&) ke

1. sin(a+ ) = sinacos 5 4 cos asin 3. sin(a — B) = sinacos § — cos asin

2. cos(a+ f) = cosacos f — sinasin 4. cos(aw — ) = cosacos f + sinasin 3
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(i) sinacosf = % {sin(a+ B) +sin(a — )}  (ili) cosacosf = 1 {cos(a + ) + cos(a —

(ii) cosasinf = % {sin(a + B) —sin(a — )}  (iv) sinasinf = —1 {COS a+ ) —cos(a —
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sin(a + ) + sin(a — B) = 2sina cos 3
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sin(a + 8) — sin(a — 5) = 2cos asin 3
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(iii) AIVEEH D 2. & 4. DA Z LT I 2I2& D, FA

cos(a+ f3) + cos(a — f) = 2cosacos 3
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cos(a+ f) — cos(a — f) = —2sinassin 5
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(1) sinA—i—sinB:QsinA;BcosA;B (iii) cosA+cosB:2cosA;BcosA;B
(ii) sinA—sinB:QCosA;BsinA;B (iv) cosA—cosBz—?sinA;BsinA;B
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